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FOREWORD

The Candidates’ Items Responses Analysis Report (CIRA) on the Certificate of
Secondary Education Examination (CSEE) 2020 has been prepared to provide
feedback to educational administrators, school managers, teachers and other
stakeholders about candidates’ abilities in the Arabic Language subject.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation that, among other things, shows the effectiveness of the educational
system in general and the educational delivery system in particular. Essentially,
candidates’ responses in the examination questions are a strong indicator of what
the education system is able or unable to offer candidates in their four years of
Ordinary Level Secondary Education in the subject.

The analysis presented in this report intends to contribute towards the
understanding of possible reasons behind the candidates’ performance on each
question. The report highlights the factors that made the candidates score high
marks in this examination. The factors include; the ability to interpret the
questions' requirements, the ability to follow instructions, and adequate
knowledge of the concepts in the Arabic Language. The report also highlights
factors that led to poor performance among some candidates. The factors are
failure to identify the questions' requirement, inability to express oneself in the
Arabic Language and inadequate knowledge of concepts, principles and rules
related to the Arabic language.

The feedback provided in this report intends to enable education administrators,
school managers, teachers, candidates and other education stakeholders to identify
proper measures for improving the teaching and learning of the Arabic language
in secondary schools in Tanzania. It is expected that the insights given by this
report will enhance the performance of forthcoming candidates in future
examinations administered by the National Examinations Council of Tanzania.

Finally, the Council would like to thank all examination officers, examiners, and
everyone who, in one way or another, participated in preparing and analysing data

used in this report.

Dr. Charles E. Msonde
EXECUTIVE SECRETARY
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1.0

INTRODUCTION

This report analyses the performance of candidates who sat for the Certificate of
Secondary Education Examination (CSEE) in Arabic Language subject in
December 2020.

Arabic Language paper consisted of twelve (12) questions, with section A, B
and C. Candidates were supposed to answer eleven (11) questions. In section A
and B, the candidates were required to attempt all questions. In section C, the
candidates were required to choose three of the four questions. Section A had
two questions, in which question one (1) had ten (10) items that carried 10
marks and question two (2) had five (5) items that carried five (5) marks,
making a total of 15 marks. Section B had six (6) questions, in which question
three (3) carried 10 marks; question 4, 5, 6, 7 and 8 carried 6 marks each,
making a total of 40 marks. Section C had four optional questions, each carrying
15 marks.

The analysis of the Certificate of Secondary Education Examination (CSEE) in
Arabic Language presents what the requirements of each question were and
what was expected as the responses in each question. Further, it shows how the
candidates answered the questions. Samples obtained from the candidates’
responses are presented to provide a general picture of how the candidates
responded to the questions.

The rating of candidates’ performance has been grouped as 'good’, ‘average' or
‘poor’. In this analysis, the performance ranging from 65 to 100 percent has been
categorised as ‘good’ and is represented by green colour; the performance
ranging from 30 to 64 percent has been categorised as ‘average’ and is
represented by yellow colour; the performance ranging from 0 to 29 percent has
been categorised as ‘poor’ and is represented by red colour. This analysis is
based on the average percentage of the candidates who scored 30 percent or
above of the total marks allocated to each question. The overall candidates’
performance is summarised in the appendix.

The total number of the candidates that sat for the Certificate of Secondary
Education (CSEE) in December 2020 in Arabic Language was 16,933, out of
which 2,614 (15.46%) of the candidates passed and (84.46%) of the candidates
failed. In 2019, candidates who sat for the Certificate of Secondary Education
(CSEE) were 20540; out of these, 5,723 candidates (27.88%) passed and
(72.12%) of the candidates failed. This implies that the performance of the
candidates in the year 2020 has decreased by 12.42 percent compared to the year
2019



2.0 ANALYSIS OF THE CANDIDATES’ PERFORMANCE ON EACH

2.1

QUESTION

SECTION A: Multiple Choice and Matching Items

This section consisted of two questions. The candidates were required to attempt
all the questions. Question one (1) was the multiple-choice question and had ten
(10) items that carried 10 marks. Question two (2) was matching items and had
five (5) items, each carrying 1 mark, making a total of fifteen (15) marks for this
section.

2.1.1 Question 1: Multiple Choice Question

This was a compulsory question. It consisted of 10 multiple choice items derived
from various topics of the syllabus. The candidates were required to choose the
correct answer from the given alternatives and write its letter beside the item
number in the answer booklet provided.

The question was attempted by 16,932 candidates (100%). 521 candidates
(3.1%) scored from 7 to 10 marks, which is a good performance, 6,855
candidates (40.5%) scored from 3 to 6 marks, which is an average performance
and 9,556 candidates (56.4%) scored from O to 2 marks, which is a weak
performance. The performance on this question was average since 7,376
candidates (43.6%) scored from 3 to 10 marks. The overall candidates’
performance on the question is summarised in Figure 1.
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Figure 1: Candidates’ Performance on Question 1.



The analysis of the candidates’ item response is as presented hereunder.

Item (1) was,
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In this item, the candidates were required to identify the inflection of the word
ualial (almanaaswibi). This item intended to test the candidates’ ability to
analyse words in the Arabic language, specifically (mudhwaafu ilaihi). In the
Arabic language sentence, words can play many roles: such as the subject of the
sentence, the object of the verb, possessive, and so on. So, this knowledge can
help someone to know the role of the word in the sentence. The correct answer
was (<) @MYL' Jdsaa kil £aa . The candidates who responded correctly in
this item knew that if a noun comes after the («ita<) mudhwaafu (the second
part of the genitive construction) should be in the genitive case (majruuru) The
candidates who opted for (\) (c) (3) and (=) which are Jalb Jgise sl gaa
;/MYb”JMM/éES M/UJA./JJJMM/éaaand HAIJL!JJJMJ-MS-J/
respectively were wrong. This is because the alternatives were giving dodgy
information about the iflection of mudhwaafu ilaihi.

The candidates who chose distractor (1) Jalt Jgise uwlif £aa ( broken nouns in
genitive case by jarr), were wrong because mudhaafu ikaihi cannot be analysed
like that. Furthermore, the candidates who selected a wrong distractor (z) &es
£ILYL Jgiaa ali (broken nouns in genitive case by being the first in the
sentence) went adrift because that is not the reason for the mudhwaafu ilaih to be
in the genitive case. The word which always be analysed like that is /i
(mubtadai), although instead of majruuru as the distractor said, we say marfuu.



The candidates who selected this alternative did not only have knowledge of
Mudhaafuilaihi but also of analysing the Arabic nouns in the sentence.

Additionally, The candidates who picked (2) 4kl ciisy jijde uusly £ia were
wrong, as for _x</ zaa (broken plural) is in the nominative case (marfuun) by
having the visible vowel “ u” (damatun dhwaahiratun) on its end, it is in
accusative case by having visible vowel “ a” (fatahatun dhwaahiratun) on its
end and it is in genitive case by having visible vowel “i” at its end which can be
caused by either preposition letter or idhwaafa. But these are nouns which are
munswarifu.

Furthermore, the candidates who opted for (R) cuaily jijie iulll £is went
astray since jamu ttakseer cannot be majruun by nasbu but it can be majruun by
having fatha as it sign at its end if it is among the words which are not
munswarif.

However, the candidates who selected incorrect alternatives were not aware of
the Arabic language inflections, plurals and their types. They also had only a
partial knowledge of the Arabic language.

Item (2) was,

This item instructed the candidates to identify the correct definition of wj—d-f/c-«-\
ALl (al-jam al-muannathi assaalim). The item intended to test the candidates’
knowledge of the Arabic language plural nouns. The candldates who had such
knowledge selected the correct answer (1) o g5 «dlf 53t s (il G S8BT Lo J L
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.24/ (is the (noun) which represents more than two feminine entities by adding
suffixes alifu () and taau (<) at its end. The candidates who opted for the correct
answer were familiar with Arabic nouns. This suggests that the candidates knew
that, plural in Arabic is divided into three parts, namely: (s« zaa )jam-u
takseeri, (allw Sie ga3) jam-u mudhakkari saalim and (allw &ize gas ) jam-u
muannath saalim. (s« 2ea) jam-uttakseeri is made by changing the structure
of its noun in a singular form. As for (alw Sis zea) jam-u mudhakkari saalim a
suffix wau () and nun (¢) are added at the end for the nominative case or yaau
(¢) and nun (¢) for the accusative and genitive case. Concerning (alw Suise 2as)
jam-u muannath saalim the plural form involves by adding suffix alifu (!) and
taau (<) at the end, and the correct response falls under this type.

Additionally, the candidates who selected (=) G5 9l5 S i) G T L Jo e
0 A gJ-'J £4 4/ Is the (noun) which represents more than two masculine
entities by adding suffix wau () and nun (&) or yaau () and nun (&) at its end)
were wrong, since the designated distractor does not give a correct explanation
about the Al ezl &4 (al-jam al-muannathi assaalim). It seems that the
candidates who plcked this wrong alternative confused it with the real definition
of the alleds H-'J-‘J/ a (al-jam al-muannathi assaalim) — since the first part of the
distractor talks about it while the second part talks about atte/ h“}‘-”é-‘ﬁ (al-jam
al-muannathi assaalim).

Furthermore, the candidates who selected (g) ¢ 515 53k Gl o ST Ao o La
231 4 o4ls #U J (is the (noun) which represents more than two masculine
entities by adding suffix wau (&) and nun (&) or yaau () and nun (¢) at its end)
went astray, since the definition is of (alw _Sie £ea) jam-u mudhakkari saalim.
Probably the candidates confused it with the definition of Al cuizaf &4 (al-
jam al-muannathi assaalim), as there is a slight difference between them. In 5-4-\
Al &340 (al-jam al-muannathi assaalim), we add suffixes alifu (1) and taau
(<) at the end while in (sl Sie £e3) jam-u mudhakkari saalim, we add suffix
wau (4) and nun (¢) or yaau (¢) and nun (¢) at its end.

Likewise, the candidates who opted for (2) o</ aﬁ u.// 830 u-'-u/ e T e o
and those who opted (=) o3/ 4 £U 5Ly u-n-ul G ST u-!c J3 L were wrong
because the distractors are unclear and incomplete.



For that matter, the candidates who opted for wrong alternatives were not
knowledgeable about plurals in the Arabic language, specifically on <w3al &
Alled/ (al-jam al-muannathi assaalim).

Item (3) was:
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In this item, the candidates were required to identify the correct predicate that
fits the blank space. The question aimed to scrutinise the ability of the
candidates to use ¢is3/ 5 o/ (Inna and its sisters). The correct answer was (=)
4/ The candidates who opted for the right answer were familiar with the
knowledge of wisi/ s oS &/ (Inna and its sisters), as they knew that Inna and its
sisters (&=si/s &) are the groups of particles in Arabic that are usually followed
by the nominal sentence. Additionally, the candidates realised that, after Inna or
one of its sisters, the subject of the nominal sentence (&/ a«) becomes accusative
(es<i9), and the predicate (< <) remains nominative (£s4.44).

However, the candidates who selected a wrong answer (1) 4-@/4 confused » &/
s/ (Inna and its sisters) with &ilsi/ 4 ol (Kaana and its sisters). The
candidates failed to know that after Inna or one of its sisters, the subject of the
nominal sentence (</ a~)) becomes accusative (<s<9) and the predicate (&/ «3)
remains nominative (£s4+), while after Kaana and its sisters, the subject of the



nominal sentence (< a«) remains nominative (£s94) and the predicate (¢/ )
becomes accusative (csais).

In addition, some of the candidates chose an incorrect distractor (<) =/ This is
not the correct answer since the predicate </ does not agree with its subject in
terms of gender. It would be the correct answer if the subject .-k could be a
masculine noun. This wrong selection was caused by the candidates’ inability to
identify the subject of the sentence, the predicate of the sentence and &si/ s &/
(Inna and its sisters) and their function in the sentence.

Furthermore, some of the candidates opted for (=) &/3. This is not the correct
answer because the predicate opted goes against the grammatical rule of s &/
444/ (Inna and its sisters). Moreover, it does not agree with its subject in terms
of gender. The candidates who opted for such a destructor failed to realise that a
sentence was preceded by &uf as one of the &/s3/ s &/ (Inna and its sisters); as a
result, the predicate has to be accusative.

Moreover, some of the candidates showed weakness by choosing the destructor
() «Lw/i as the correct answer. These candidates failed to realise that
grammatically the word <&/ could not be the correct predicate of the subject
4l as the subject is in singular while the predicate is in plural form.

Further analysis of the candidate’s performance on this item shows that the
candidates who opted for the correct answer exhibited high dexterity about s ¢/
444/ (Inna and its sisters), whereas those who chose other alternatives showed
weakness in that skill.

Item (4) was,
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The item required the candidate to determine the cases (<€) that are shared by
both 4wasyl eLal¥ (five nous) and (alw Sis 2ea) jam-u mudhakkari saalim. The
item intended to examine the candidate’s ability about inflection of 4uail/ slal¥s
(five nous) and (allw sSie £a3) jam-u mudhakkari saalim. Some of the candidates
successfully determined the correct answer (<) JaJls yﬂ/ 4ls, This was the
correct answer because 4wisll sLal¥ (five nonus when they form the first part of
the genitive construction, they will have s/sin the nominative case, «&/¥/in the
accusative case and =£&//in the genitive case. With regard to (aftw & gan) (2o
allw 4siq) jam-u mudhakkari saalim, it will take s/#/in the nominative case while
in both accusative case and the genitive case, it will take &/, For that case, the
candidates realised that both 4waslf gLal (five nous) and (sl Sis zes) jam-u
mudhakkari saalim are in the nominative case and accusative case by having the
sign L/ (waau) and =& (yaah), respectively.

Additionally, the candidates who chose (1) gjéJU;-‘i}U/ 41 ware not right since
grammatically both 4wif elald (five nous) and (sl _Sie zea) jam-u
mudhakkari saalim cannot be maj-zuum at all. It is conceivable that the
candidates were confused by the first part (é,’lf/ 41 in the destructor because it
is shared by both 4aasl gLl (five nous) and (altw sSds za3) jam-u mudhakkari
saalim.

Furthermore, some of the candidates selected distractor (z)ssadlls ;ﬁjf/ s as
the correct answer. These were wrong because the statement contains um-nfl
which is not shared by both 4awisll £Lal¥ (five nous) and (sl Sie za3) jam-u
mudhakkari saalim, as nasbu is represented by alfu in (five nous) while in ( zea
allw ysid jam-u mudhakkari saalim, is represented by yaau. The candidate
overlooked the distractor; hence he or she did not examine his or her response
deeply. Nasbu can be shared by both dual nouns and (alw _Sie #e3) jam-u
mudhakkari saalim.



Moreover, the candidates who opted for () widat(s cﬁﬂ/ 4l were wrong
becauseu-h-f/ (alhazfu) cannot be applied to both <aasl glalsd (five nous) and
(Al S 5-44) jam-u mudhakkari saalim. P053|bly the candidates confused either
4Ly plaly (five nous) with daasly JMW (five verbs) or (alw Sie &) jam u
mudhakkari saalim with 4y JMY/(flve verbs). As for s Juassi (five
verbs) are in nominative case by having nuun and they are mansuubu and
majzuumu by dropping it («ddsd),

Moreover, some of the candidates selected an incorrect answer (=) cﬁﬂ/ s
S5 Although cﬁﬂ/ 4l is shared by both 4aasl sLal¥/ (five nous) and ( ges
allw 4sid) jam-u mudhakkari saalim, as both are in the nominative case by wau,
the presence of the word "cy€al“ in the sentence made it incorrect. The
candidates failed to realise that €& can neither be the sign of 4uwdsl slalds
(five nous) nor (alw sSie gaa) jam-u mudhakkari saalim in any case.

Furthermore, the candidates who chose the correct answer exhibited their skills
in both the Arabic nouns and how they are analysed in deferent cases or states.
The candidates who chose other alternatives demonstrated low mastery of the
Arabic nouns.

Item (5) was,
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The candidates were given five sentences in this item; and were required to

determine the verbal sentence among the given alternatives. The item aimed to

test the candidates’ ability in both verbal sentence and nominal sentences. The
9



candidates who had sufficient knowledge of Arabic sentences determined the
correct answer, which was (<) AL paki They realised that, nominal sentences
begin with a noun or a pronoun, whereas verbal sentences begin with a verb.
Consequently, they selected the statement (<) to be the correct answer among
the given alternatives because it starts with a verb.

In addition, some of the candidates selected (1) dijia 55/4 which was an incorrect
answer because it starts with the noun and a sentence, which starts with the
name is called 4wwd 4aaf (noun sentence) in the Arabic language. The
candidates failed to know the meaning of the sentence as well as the indicators
of Arabic names such as letter alfu and lam, which occurred in the word r’§”-

Furthermore, some of the candidates chose distractor (z) i-v-m &4dl, This is not
the correct answer because it starts with a noun. To be a verbal sentence, it
should have begun with a verb. It seems that the candidates who chose this
alternative had little understanding of Arabic verbs and nouns. They failed to
realise that while a verb shows the time of action contrary, a name does not.

Moreover, some of the candidates were attracted by distractor (2) Lisad) Sliid
4Laa, which is an incorrect answer by starting with mubtadau. The candidates
were likely deceived by its length.

Finally, some of the candidates selected () 45 jida 5381 as the correct answer.
This was an incorrect answer because it is composed of two nouns which are
siiiyand 4ssida. The candidates did not know that a sentence which starts with
the mubtadau 48 as the indicator of 4wy dlaal (noun sentence) cannot
qualify as a verbal sentence.

Contrarily, the candidates who were knowledgeable about both verbal sentences
and noun sentences recognised the correct answer easily: they knew that the
verbal sentence starts with a verb. In contrast, the noun sentence starts with a
name. Therefore, the candidates who failed on the item had inadequate
knowledge of the Arabic verbal and noun sentences. It was very simple to
determine a verbal sentence were the candidates conversant with indicators of
verbs versus indicators of nouns.

10



Item number (6) was,
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The item required the candidates to identify the adjective that suits filling in the
blank space to make the sentence meaningful. The item intended to test the
candidates’ ability in 4« (adjective). The candidates who were knowledgeable
of the Arabic adjectives chose i€ in distractor (<). This is because the
adjective (<) is a follower of a described word in its raf, nasb and khafdh
(jarr). Thus, the candidates knew that the word that describes it should be in that
case: because the word before it is in the nominative case.

In addition, some of the candidates opted for (1) _{#2€, which is incorrect because
the adjective (<) is a follower of a described word in its raf, nasb and khafdh
(jarr) in the Arabic language. It seems that the candidates confused the word
Jsae with the object of the sentence, which is often mansuub and the word Ja_
as its subject. The candidates did not consider the meaning of the sentence and
the principles of the Arabic adjectives.

Moreover, those who chose alternative (z).isa¢ were wrong because it goes
against the rule of (<) (description). Probably, the candidates regarded the
word _isa€ as mudhwaafu ilaihi of the word JaJwhich is incorrect too, as, in the
genitive construction, the < seis(a described word) should not have tanwiin on it.

Additionally, others filled the blank with distractor (2) 43¢, which is wrong
because the <s2is (a described word) is in masculine gender while <= is in the
feminine gender. Thus, the candidates overlooked the gender aspect in
determining the correct adjective in this context. Additionally, the candidates
who selected letter () did not differ much from those who chose letter (2)

11



above; the only difference is, kisratain and fathatain at the final positions of the
word in the letter (2) and (=) respectively.

However, the candidates who determined the correct answer were skilled in </
(adjective) and its principles enough. On the other hand, those who failed to
determine the correct answer lacked sufficient knowledge of <« (adjective) and
Arabic vocabularies. Some of them did not only fail to determine the meaning of
words but also the correct use of <« . Consequently, they misinterpreted the
item.

Item (7) was,
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In this item, the candidates were required to identify the correct definition of -
(uninflected word). The item tested the candidates’ knowledge of uninflected
words in the Arabic language. The candidates were able to identify distractor (<)
P 6 deny il 5 4] J8G EL ¥ L to be the correct answer. The candidates
realised that uninflected words remain in a fixed condition, in spite of different
governors that precede them.

Additionally, some of the candidates selected (1) 4 4ecrs it o &7 Jd %L La
A& which is an incorrect definition of <« (uninflected word), because it
explains that mabniyyu is a word that changes the form of its last letter with a
change of its position in a sentence. The candidate who picked this distractor
confused it with the definition of Muurab (<29 as Muurab (<29 — a word
which is changed at its end because of the different types of governors that

12



precede it or governing factors that affect it. There is a very slight difference
between them. So, to make it clear, mabniyyu is fixed while muurab is unfixed.

Other candidates chose (g) 2280 4 4elrj itl 4bij JE& S5 ¥ L which is untrue
because in <& (uninflected words), it is the last letter which is dealt with, not
the middle one as the statement explains. The candidates who chose J& il ¥
P 4 dnlsj il 4kij did no pay attention to the word 4kis which was the
trick in the distractor.

In addition, the candidates who chose distractor (3) 4 4es il /5 Jid 45 L
23 were wrong because it contains unrequired words about - (unlnflected
word) which was 45/ . These candidates did not realise that the topic of
mabniyyu does not consider the first letter of a word as the definition says;
rather, it focuses on the last letter of a word.

Moreover, the candidates who chose alternative (#) sl 4bags 45/ JKd HEL L
a3 4 425 \were wrong because it is about wrong definition of an uninflected

word. The candidates who picked it did not paya attention to the words 4{s/and
@J_

Generally, the candidates who determined the correct answer in this item were
familiar with -« (uninflected word) while those who failed lacked such
knowledge.

Item number (8) was,
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The item instructed the candidates to fill in the blank space using the correct
word among the alternatives. The item tested the candidates’ ability to use verbs.
The correct answer was (=) &Léle . The candidates who chose other alternatives
exhibited weakness in the topic.

The candidates who choose the distractor (1) Ll were wrong since the verb is
talking about the past action. The candidates choose (z) were also wrong since
the verb represents the the third person plural feminine while the sentence is
talking about dual. On the other hand the candidates who selecteted the
distractor (2) feiled to determine that the verb is talking about the third person
singular feminine in the past time. Those who opted the alternative (<) were
wrong since grammatically the verb does not fit in the sentence.

Item number (9) was,
:)_,‘h, ‘.] ‘ @ 2 \-::. . a}w\ JSL*:;:J\ k..J-A :\.>-\, (()br"

.":J_;;.” "j w, S‘ _‘
MEST silali—o

Ne% 40 @,

S LT el &
VA Sietall —s
‘Il:‘,i)).lbﬂ ,.c: w, S‘ e

The item was about _tecal (pronouns). The item required the candidates to
identify Jwais jies (attached pronoun) among the given alternatives. It aimed at
measuring their ability to use pronouns in their daily conversations.

The candidates with sufficient skills about Jais e (attached pronoun) chose
(z) "U" _seda] which is the correct answer because a pronoun cannot stand alone
without attaching itself to another word in a sentence.

The candidates who selected () "< jiealiwere wrong because a pronoun can
stand alone in a sentence without attaching itself to another word. Just take an
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example <& gad (we are students), the underlined word is not attached to
another word. So, the candidates who chose the pronoun “Zawhich is the first-
person pronoun masculine plural, as an attached pronoun, probably they were
not able to differentiate between Jaii e (attached pronoun) and Juadisl jia
(detached pronoun)

Furthermore, some candidates picked distractor («) "/ el which is the
second person pronoun masculine singular. This is not the correct response
because it can stand alone in a sentence. The candidates who selected this
distractor might have confused it with "&"” il which is the Jwafi fied
(attached pronoun).

Finally, the candidates who chose the correct answer exhibited their skills of
using pronouns in different contexts.

Item (10) was,

" a S-J‘ " ..,]ru‘j; n‘,.:.‘ % &5::‘.5‘ }\.:p” (](.)J

o1 %CE.J\ 225l F3s5a Sle AUl

. 8. S o L\ Al 4 E,u;; e ) —a

In this item, the candidates were required to identify the inflection in the word
HJ-J/ The question aimed to scrutinise the ability of the candidates in usmg SO
Pa/PeY) (Kaana and its sisters). The correct answer was () dazaty fﬂw e Al
o &S oS 50 . The candidates who opted for the correct answer were familiar
with 4lsi/ s ois (Kaana and its sisters). As they knew that: &si/ s oS (Kaana
and its sisters) is— a group of particles in the Arabic language that is usually
followed by a nominal sentence. Additionally, the candidates realised that after
Kaana or one of its sisters, the subject of the nominal sentence (& a«)) remains
nominative (£s449); and the predicate (¢&/ »3) becomes accusative (euaid).
Consequently, they determined the right inflection of the word Y+
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However, the candidates who selected (w) el e Ly Cssdly fﬂJ—‘ S Al
were wrong because (uIS a)) because the undellned word in he sentence has the
behalf of 4! (dammah). The candidates who chose Lty UJS“JL' fﬂw a2
4aay s did no pay attention to the statement4azy e L Sl which s the
trick in the distractor.

In addition, some of the candidates selected distractor (c) L 5}3}‘ e Al
Al pe 4z This is incorrect answer since the word <4 is in the nominative
case; with a visible dammah at its end. The candidates Who opted for this
distractor might have been attracted by the statement L 5,,%“ Jka Awl which
made them ignore the statement 4aidil ;& Litzithat disqualifies the alternative as
the incorrect answer in this context.

Other candidates chose distractor (2) i)ﬁlﬁf’ Ll fﬂﬂ Jke Ad) which is an
incorrect answer because the word <440 is not analysed like that. Perhaps the
candidates confused the noun <52 with the (alw _Sis zea) jam-u mudhakkari
saalim which is in the nominative case by waau.

Lastly, some of the candidates picked (®) Sl (& Lty daaly ¢ sdja jlaa il
They were wrong since the name of swaara (U a«) has a visible vowel
dammah at its end.

Generally, the candidates who scored full marks on this question manifested the
highest level of expertise in topics such as genitive construction, plural nouns,
nawaasikh, inflected and uninflected words, inflection, types of Arabic
sentences, adjective, and pronouns. However, the candidates whose efforts came
to naught, showed weakness on those topics.

2.1.2 Question 2: Matching items

The question consisted of five (5) matching items. The candidates were required
to match each item in List A with its corresponding in List B by writing the
letter of the corresponding response beside the item number in the answer
booklet provided. The general task of the question was to measure the
knowledge of the candidates in genitive construction (44&¥/). The question
was:
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The question was attempted by 16,933 candidates (100%), out of which 13,467

candidates (79.5%) scored from 0.0 to 1.0 mark, which is a weak performance,

3,099 candidates (18.3%) scored from 2.0 to 3.0 marks, which is an average

performance and 367 candidates (2.2%) scored from 4.0 to 5.0 marks, which is a
17



poor performance. Therefore, the candidates' general performance on the
question is weak, considering that 3,466 candidates (20.5%) scored from 2.0 to
5.0 marks. The overall candidates’ performance on the question is summarised
on Figure 2.

2.2%

Scores
m00-1..0

20-3.0
14.0-5.0

Figure 2: Candidates’ Performance on Question 2.

Item (1) required the candidates to identify the correct definition of the word
il (al-mudhwafu). The correct response was (J) because al-mudhwaafu is a
noun (or an adjective) annexed to the noun after it. The candidates who matched
the item with the correct response had adequate knowledge of <itiil (al-
mudhwafu).

However, the candidates who opted for (w) wilidl 4,-rl-r A/ (the noun that
appears after almudhwaaf) as a response were wrong because the statement is
explaining about 4 <itadl Some of them chose () £ Jatf «is -wa-'l-' Al (@
noun that comes after the preposition only). These were also wrong because
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cil&dll (al-mudhwafu) may appear after different words in a sentence. The
candidates who selected this incorrect response might have seen cases where
mudhwaafu occurred after the preposition. Hence, they generalised that
mudhaafu comes after prepositions only.

Item (2) required the candidates to match the statement <itial </ with the
correct statement from list B. The item examined the candidate’s knowledge of
the inflections of <itaad The correct answer in this item is (8) ¢ 4edde cucuay
4Ll Since al mudhwaafu has no specific position in a sentence, the candidates
with knowledge of the inflection of mudhwaafu selected this answer. They
realised that ««_e/(inflection) of <il&aii depends on its position in a sentence.

Furthermore, some of the candidates connected the item with the incorrect letter
(z) “ad 4 4edsa sy The candidates who matched the item with this
statement failed to differentiate «iaf/from <eat/. Additionally, the candidates
were confused the statement «ijafl 4 4ed4s sy with the correct answer, as
there is a slight difference between them.

Item (3) required the candidates to match the statement which says it sy
with the correct explanation from list B. The item intended to measure the
candidates’ ability in determining a reason for the second part of genitive
construction (4d/ <itadd) to be in the genitive case (La<). The correct answer
was (=). The candidates who matched the question correctly were aware of the
inflection of al-mudhaatfu ilaihi.

However, the candidates who matched the item with (c);bify did not know that
the second part of the genitive construction is always in the genitive case by
(44Lzy). The candidates who chose it were fascinated by the grammatical
connection without considering the meaning. Since in reality (4 <it&adf) cannot
be majruuru by waau (s/.s).

Some of the candidates opted for (s) 4Lsi 4 42444 cuay This is not the correct
answer but an explanation for </ . The candidates confused item (2) with
item (3) in this question.

The item (4) was about things that are dropped from it during the genitive

construction. The candidates with the knowledge of genitive construction
matched the item with (3). The candidates realised that if the «il&s mudhaaf ‘the
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2.2

annexed’ is dual or plural in (sl sSie £3) jam-u mudhakkari saalim), the rule is
to drop its final & nuun in both cases.

However, the candidates who chose (&) were wrong since the alfu of dual is
untouchable during the genitive construction. Also the candidates were not
aware that (allw sSie £a3) jam-u mudhakkari saalim) does not have alfu of plural
like dual nouns.

Item (5) was 44/ <itadl It required the candidates to match it with the correct
definition. The candidates with adequate knowledge matched it with (<) = A/
il 34 because the noun that appears immediately after al-mudhwaafu is the
mudhaafu ilaihi.

Furthermore, the candidates who matched the item with (i) and (J); which are A&/
L A cija 35l and 65 sl o quad Al respectively were wrong. The
candidates who matched the item with (3), for instance, confused 4 cit&aadwith
wiLladlsince they work together to form the genitive construction.

Hence the candidates who performed well in this question were proficient in the
topic of genitive construction. Consequently, they matched items (1), (2), (3), (4)
and (5) with (3), (3), (=), (*) and (<) respectively. The candidates who failed to
match the correct answers had little understanding of the Arabic genitive
construction.

SECTION B: Short Answers

This section had six (6) questions. Each question had six items except question
three that had five items. The candidates were required to answer all questions.
Each question carried six (6) marks, except question 3, which carried ten (10)
marks, making a total of forty (40) marks.

2.2.1 Question 3: Dialogue

This question was about dialogue. The candidates were required to complete the
dialogue by writing questions that correlate with answers provided in the
dialogue. The question tested the candidates’ ability to express themselves in a
simple Arabic language. The dialogue was:
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The question was attempted by 16,933 candidates (100%). 13,842 candidates

(81.7%) scored from 0.0 to 2.5 marks, which is a weak performance, 2,438

candidates (14.4%) scored from 3.0 to 6.0 marks, which is an average

performance and 653 candidates (3.9%) scored from 6.5 to 10.0 marks, which is

a good performance. The overall performance on the question is summarised in

Figure 3.

100
90
80
70
60
50
40
30
20
10

0

Percentage of Candidates

81.7

14.4

0.0-2.5 3.0-6.0 6.5-10.0
Scores

Figure 3: Candidate’ Performance on Question 3.
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The analysis shows that 13,842 candidates (81.7%) scored below 3 marks. The
candidates in this category demonstrated shortcomings such as skipping some
items and writing ungrammatical sentences.

On the other hand, the candidates who scored zero marks on this question
supplied wrong answers in all items of the question. One of the candidates, for
example, in item (1) wrote: “ 4./ s L "instead of £ Mile J&di, The candidate
was wrong because this question does not correlate with the answer given by
Allwall in this dialogue. In Item (<), the candidate wrote, « "4/ 44 L “instead of
fdlaw/ La (What is your name?). Since this statement is used to know some one’s
name, the candidate failed to use the next sentence in this conversation to
formulate the question that correlates with the answer given by the traveller in
this dialogue. In item (=), the candidate wrote "5¢/" which is meaningless,
instead of writing &/ ¢w/ ¢ (Where do you come from?), since the following
sentence gives information about where the traveller comes from. Thus, the
candidate lacked the skills of formulating questions.Consequently, he or she
wrote something meaningless.

Furthermore, the candidate skipped item (2), likely because he/she did not know
the next sentence in a series of conversations or failed to formulate the question
about that statement. In the last item, the candidate wrote "k &% & 4] 5 L "
instead of fLs diw o J (for how long will you stay here?). Since the
following sentence in this item correlates with it. Some of these candidates just
picked some words from the question and used them as their answers. Others
skipped items, and others did not understand the requirement of the question.
Furthermore, some of the students wrote meaningless words. This suggests that
the candidates had low competence in the Arabic language, especially on the use
of the interrogative particles to create the question. Extract 3.1 is a sample of
poor responses from the candidates in this question.
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Extract 3.1: A sample of poor responses in question 3

The extract is a sample of responses from the candidates who failed to complete
the dialogue. The candidate changed the sentences in the dialogue, that is, he or
she has taken the last words in the sentences and made them the first, which is
not correct for this question.

Moreover, some of the candidates had an average performance on this question,
scored from 3.0 to 6.0 marks. The analysis shows that they only completed some
items of the dialogue correctly. This indicates that they had a partial knowledge
of Arabic grammar and a partial understanding of interrogative particles in the
Arabic language.

Moreover, the analysis reveals that 653 candidates (3.9%) scored from 6.5 to
10.0 marks, out of which 141 candidates (0.8%) scored full marks on the
question. These candidates completed all items of the dialogue with the required
information. For example, they realised that item (f) should be filled in with Jad7
4.7 /iLa : here they correctly used the Arabic interrogative particle /L (what), to
formulate the question which correlates with the answer given in the item as
they understood the meaning of the statement given in the next sentence in this
item.

They also realised that the correct question for the statement in item (&) is &
fdlews/ (What is your name?) since the statement seeks to know someone’s name.
As in the next sentence in this conversation, where the traveler mentioned
his/her name. They also realised that the correct question for the statement in
item (z) is &/ o/ o= (Where do you come from?) since the next sentence gives
information about where the traveller comes from. Besides, the candidates
realised that the correct sentence for the item () in this conversation is s ¢/
A (Where is the passport?) because in the next statement in this dialogue the
traveller showed his passport to <ifisil Further, the candidates determined the
23



correct statement for the next sentence in the item () as &  Adw o J (for
how long will you stay here?) since the next sentence in this item correlates with
it contextually.

Therefore, these candidates knew Arabic vocabulary, which enabled them to
correctly determine questions that match the statements provided. Likewise, they
were knowledgeable of interrogative particles and their use in a sentence.
Extract 3.2 is a sample of good responses from one of the candidates.
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Extract 3.2: A sample of good responses in question 3

The above extract is a sample of good responses from one of the candidates who
completed the dialogue correctly.

2.2.2 Question 4: Jumbled Words in Sentences

In this question, the students were instructed to re-arrange the given words
logically to make meaningful sentences. The question tested the candidates’
ability to organise words to make meaningful sentences. The question was,
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The question was attempted by 16,933 candidates (100%), out of which 1,468
candidates (8.7%) scored from 4.0 to 6.0 marks, which is a good performance;
3,839 candidates (22.7%) scored from 2.0 to 3.5 marks, which is an average
performance, and 11,626 candidates (68.6%) scored from 0.0 to 1.5 marks,
which is a poor performance — out of which, 6,159 candidates (36.4%) scored
0.0 mark. Therefore, the candidates' general performance on the question was
average, considering that 5,307 candidates (31.3%) scored from 2.0 to 6.0
marks. The overall candidates’ performance on the question is summarised in
Figure 4

100 -
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40 -
30 - 22,7

20 - 8.7
10 -

o .
00-1.5 20-35 40-6.0
Scores

68.6

Percentage of Candidates

Figure 4: Candidates’ Performance on Question 4.

The analysis shows that some of the candidates performed well on this question.
The data shows that 0.7% of the candidates scored full marks. Such candidates
were aware of the types of Arabic sentences. They correctly re-arranged the
words to make meaningful sentences. One of such candidates who scored full
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marks wrote the following: in item (1) glaiey/ 4 Lad g/.?ff/ Uu&r/ £ (The two
students who passed the exam came).

Furthermore, in item (<) the candidates wrote ke 4o el ol aiu-f/ &% (The
teacher opened the door of the school in the morning) as a good arrangement of
the words in this item, in item (g) he or she wrote c—uu-f/gﬁ v—uf sl u-mf-if
(Smoking has many harmful effects in the somety) initem (3) 4 gLal oalll Gl
<4 In item (<) he or she wrote .4 s 465 Sb/5d0 ¢asand in the last item,

she/he wrote 4 fwea ol This suggests that they knew the Arabic syntax.
Extract 4.1 is a sample of a good response from one of the candidates.
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Extract 4.1 is a sample of good responses in question 4

Extract 4.1 is a sample of responses from the candidates who managed to re-
arrange the jumbled words into meaningful sentences as required.

Furthermore, the analysis indicates that 3,839 candidates (22.7%) scored from
2.0 to 3.5 marks, which is an average performance on the question. The majority
of these students managed to answer two or three items out of five items. This
suggests that they had partial knowledge of the Arabic language, especially the
Arabic language syntax. This weakness caused them to re-arrange some items
wrongly.

The analysis further shows that the candidates who performed poorly in this
question did not have Arabic sentence structure skills, but only relied on
guessmg answers. One of such candidates with zero marks, for example wrote:
OGN I3 4 137 SIS e £57For the item (1) instead of 4 ad /il ul-f-ﬁ:-f/ fla
gl-x,u}f/. In item (<) the candidate wrote "4 jiall cibi bésmcwél'ﬂ/" instead of
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Bl dajiall qil Akdl zdé or Sl 4 jiall c_/l.rcuﬁfflf.;!/or uuz_a,‘.&..’.r/ Al
434 In item (C) the candidate wrote "u-n-uU c-ﬁu-f/ A Ll bﬁS " instead of
aalad 4 548 ) sl il the candidate wrote in item (3) Jadl et & /I

" idinstead of gl 4 glial oadll G or uj—d/aﬁfhd/wwuaﬂ/

Furthermore the candldate wrote "‘—m dib; 4-u-ﬂ-u ul’/}a-f/”for item (=) instead
of 4 Jiij 4ikj ue,-' Cblsalor 4 s 4ibj obisa S In the last item, the
candidate wrote: "Gl Las 1a"instead of 4 s Sl This suggests that the
candidates in this category did not have adequate knowledge of the Arabic
language, especially skills to rearrange words in a given disarranged-words. In
addition, the candidates lacked an understanding of the types of Arabic
sentences. Extract 4.2 is a sample of poor responses from the candidates.
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Extract 4.2: A sample of poor responses in question 4

The extract is a sample from the candidates who was not able to re-arrange the
jumbled words into meaningful sentences. The candidate wrote meaningless
sentences.

2.2.3 Question 5: 4wdill (At-Tashbiihu)

This question had six items about <4</ (at-Tashbiihu). The candidates were
required to identify 4cdalland 4y 4cdall from the given sentences. The question
intended to test the candidates’ ability in Arabic simile. The question was,
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The question was attempted by 16,931 candidates (99.9%). Further analysis
shows that 13,167 candidates (77.8%) scored from 0.0 to 1.5 marks, which is a
weak performance, 1,430 candidates (8.4%) scored from 2.0 to 3.5 marks, which
is average performance and 2,334 candidates (13.8%) scored from 4.0 to 6.0
marks, which is a good performance. The general performance on the question
was weak since 3,764 candidates (22.2%) scored from 2.0 to 6.0 marks. The
overall performance on the question is summarised in Figure 5.

Scores
m00-1.5

20-35
m4.0-6.0

Figure 5: Candidates’ Performance on Question 5.

The analysis of the candidates’ responses shows that the candidates who
performed poorly in this question were 13,167 (77.8%); among these, 70.7
percent scored a 0.0 mark. Some of these candidates failed to identify the
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requirement of the question. Consequently, they provided information that was
not required in the questlon One of the candidates for example in item 0) oks
L uLSJ/Wrote "uL.SJI UIS JES " instead of Ml uLnSJ/and 4.:4.%4!/ JLu.«/ The
candidate in this item thought that changing the position of the words in the
sentence was the correct answer. Hence, he or she moved the word Ll from the
last position to the beglnnlng In item (u)d—wﬂ/d}h:’/g-ﬂsuld-u 41 the
candidate cut the word €43/ from the sentence instead of writing the correct
answer which is 4edall :2557 while ft;v@-«ﬁﬂ/.séy/ In item (g) 4 L LadS |

jié-i-ﬁthe candidate wrote ""Lads L 4 5550 instead Of 4ickall reLadis and
444-“«!/ d-u-f— .The candidate changed the posmon of the words. In item (2) ra-lt-a-f/
o;MY/QJJﬂU the candidate wrote "ssly/ QJJJ-'-”S Akfmwithout indicating al-
mushabbahu and al-mushabbahu bihi. In item (=) he or she removed the word
SLsfrom the sentence, instead of writing M/ u-u-'-”and‘i-f 4Ll ;i In the
last item which was 2545 <l 4 il e I-f-ﬂ-u-«/ the candidate responded by
changing the position of the words after removmgLr-fLw/ This shows that the
candidate did not only lack knowledge of al-mushabbahu and al-mushabbahu
bihi but also did not understand the question's requirement. Furthermore, some
of them responded to the items with meaningless sentences, while others skipped
the question. Extract 5.1 is a sample of poor responses from a student who
scored 0 marks on question 5.
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Extract 5.1: A sample of poor responses in question 5

The extractn5.1 is a sample of poor responses from the candidates who failed in
all the question items. The candidate failed to understand the demand of the
question, consequently analysed the words although he or she was wrong too.

Further analysis shows that 1,430 (8.4%) candidates scored from 2 to 3.5 marks,
which is an average performance on question 5. The candidates in this group left
some items unanswered, while others only showed al-mushabbahu or al-
mushabbahu bihi. Furthermore, they only got two to three items right. This
indicates that they had partial knowledge of the Arabic language simile,
specifically al-mushabbahu and al- mushabbahu bihi.

The candidates who performed well in this question correctly identified both al-
mushabbahu and al-mushabbahu bihi in four or all items of the question. The
candidates who scored full marks on this question demonstrated a high level of
competence. They successfully distinguished al-mushabbahu from al-
mushabbahu bihi in the given simile sentences. One of the candidates who
performed weII in all items, for example, responded to the question as follows:
In item () i s S5 | he or she wrote «i&/as al-mushabbahu and il as al-
mushabbahu bihi. In item (<) ﬂ-u,gﬂ/thY/g,J &l Jha 547 the candidate wrote
&34/ as al-mushabbahu andél,-f,-vf as al-mushabbahu bihi. In responding to the
item (g)483a0 4 Jué iS5 he or she wrote<adSas al-mushabbahu while Jt«é as
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al-mushabbahu bihi. Furthermore, in item (A)Eil-é;’lé,,‘?ﬁlfra’,fw? , the candidate
wroteAdedl as al-mushabbahu and Jj—ff/as al-mushabbahu bihi, while in item (=)
CMJJ/ 5 i Gu 33 S8 | the candidate identified g« as al-mushabbahu and
4 as al-mushabbahu bihi. In the last item he/she wrote ol (_AJA-J/JTA Lt
43495, he or she wrote Liili/ as al-mushabbahu and _a4/as al-mushabbahu bihi.
These responses suggest that the candidates had adequate knowledge of simile

and its pillars. Extract 5.2 is a sample of good responses from a candidate who
scored all marks allotted to the question.

S

AT 5\,@ |

LA ALY A 1
> T2 |
Pl CEE | B %\F_.._

-

TAEN & O =

. < AT, S\ LF
T 5

SR g
J

SEVECEE T\

u\'\ff\j\ P

1)7‘{—,,,, I - ‘) X

U

AN LSGs)| o

Extract 5.2: A sample of good responses in question 5

Extract 5.2 is a sample of good responses from the candidates who answered all
parts of the question correctly.
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2.2.4 Question 6: Pronouns

This question was about pronouns. It had six items. The candidates were
instructed to rewrite the sentences by filling in the given spaces with correct
pronouns. The question tested the candidates’ ability to use the Arabic pronouns,
specifically the detached pronouns. The gquestion was,
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The question was attempted by 16,933 candidates (100%). The statistical
analysis shows that 14,813 candidates (87.5%) scored from 0.0 to 1.5 marks,
which is a weak performance; among them, 72.4 percent of the candidates
scored a 0.0 mark. Furthermore, 1,476 candidates (8.7%) scored from 2.0 to 3.5
marks, which is an average performance and only 644 candidates (3.8%) scored
from 4.0 to 6.0 marks, which is a good performance. The candidates' general
performance on this question was weak, considering that only 2,120 candidates
(12.5%) scored from 2.0 to 6.0 marks. Figure 6 summarises the performance on
question 6.
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Figure 6: Candidates’ Performance on Question 6.
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The analysis shows that 14,813 candidates (87.5%) scored from 0.0 to 1.5
marks, which is a weak performance; among them, 72.4 percent of the
candidates scored a 0.0 mark. These candidates provided answers which
contradicted the requrrement of the question in any item. One of the candidates
for example |n |tem (\) /JS-‘-‘ eﬂ/ e faﬂ/ .......... wrote " K aﬂ/ ) faﬂ/ o
present verb ,’Jﬁ/ effectlvely to determine the correct answer, as it stands
shoulder to shoulder with 47 In item (u) ru-wﬁ‘uf—wbw .......... he or she wrote
Magi JS b ol Lads 7 instead of pd JS e Mw This implies that the
candidate did not recognise clues for determining the right pronoun in that
sentence. The clues are (<) and (&) in the verb and noun, respectively. They all
refer back to the pronoun 2 . In item (c);/ﬂ-ﬂ/ loely ... , the candidate
wrote "¢/l G sietiy il instead of £/dd Gl ab | Therefore the candidate
was not aware of the indicators £&/and Ju-flfor pIuraI in the verb Juetiwwhich
needs to be used with a¢ . In item (3) diely Ga £ .......... the candidate wrote "

"dieli Ga J€545 Ulinstead of disliw G sS47 iif | The candidate did not realise
that the pronoun &7is for the first person singular while the verb in the sentence
has the verb _i€&fwith the hidden second person singular masculine pronoun in
nominative case which needs to be used with a pronoun &l In item &
(Bl Eallji G, , he or she wrote "4aall gealiw e aZi" instead of <
Lal @Lv,;yw};w. This |mpI|es that he/she was not aware of the verb u,-év;-uthat
contains the signs taau at the beginning of the verb, which used with the yaau
almukhwaatwabati) in the verb; thus, the right pronoun should have been i
which is the second person smgular (female). In the last item UM/N& .......... :
the candidate wrote: "cigical 4%l il " instead of i gl e o, suggesting
the failure to determine that the first letter in the present verb ryS-r is an essential
indicator for him or her to determine the right pronoun. Extract 6.1 is a sample
of poor responses from the candidates who failed to provide appropriate
responses.
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Extract 6.1 is a sample of poor responses in question 6

The extract is a sample of responses from the candidates who provided incorrect
answers. The candidate copied words from question number seven and used
them as answers to question number six.

The analysis of the students’ responses shows that the candidates who
performed well in this question mostly filled in the blank spaces with correct
pronouns.Those who attained full marks realised that the blank space in the item
(/) had to be filled in with a pronoun (l-rl) (1); the first person singular pronoun in
nominative case. The first letter in the verb éﬁfsignaled him/her to use that
pronoun. They also realised that the blank space in the item (<) had to be filled
in with a pronoun ¢4 ; third person singular feminine pronoun in the nominative
case since the sentence contains a verb (&<ad) which relates to that pronoun.

Moreover, they realised that the blank space in the item (z) had to be filled in
with a pronoun ¢ (They); third person plural masculine pronoun in nominative
case. The candidates realised that the sentence contains a verb ¢t with the
indicator yaau and waau which helped him to determine the correct answer.
Furthermore, they realised that the blank space in the item (2) had to be filled in
with a pronoun </ second person singular masculine pronoun in nominative
case because the sentence contains a verb _£&fwith the letter < at the begenning
and the verb diel with the pronoun & as the indicators for the answer.
Additionally, they realised that the blank space in the item (=) had to be filled in
with pronoun </second person singular feminine pronoun in nominative case,
since the candidates singled by the verb (s with the second person singular
34



feminine pronoun in nominative case as the indicator for the answer. Lastly, the
candidates realised that the blank space in item () should be filled in with o
which is the first person plural mascullne pronoun in nominative case, since the
sentence contains the verb (NSJ) with the hidden first person plural masculine
pronoun in nominative case. This shows that the candidates had enough skills in
the Arabic pronouns and how to use them in sentences. Extract 6.2 is a sample
of correct responses from one of the candidates.

”~ e J

Extract 6.2 is a sample of good responses in question 6

The extract is a sample of good responses from the candidates who were able to
fill in the blanks with appropriate pronouns.

2.2.5 Question 7: Jui¥) (Verbs)

This question had six items about past tense. The candidates were required to
place before each given noun an appropriate past tense of the verb which
correlates with the noun and to change what is necessary to ensure concordance.
The question intended to test the candidates’ ability to use past tenses in the
Arabic language. The question was,
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The question was attempted by 16,933 candidates (100%), out of which 14,668
candidates (86.6%) scored from 0.0 to 1.5 marks, which is a weak performance,
1,682 candidates (10.0%) scored from 2.0 to 3.5 marks, which is an average
performance and 583 candidates (3.4%) scored from 4.0 to 6.0 marks, which is a
good performance. Therefore, the candidates’ general performance on the
question was poor, considering that 2,265 candidates (13.4%) scored from 2.0 to
6.0 marks. The overall candidates’ performance on the question is summarised
in Figure 7.

3.4%

Scores
m0O0-15

2.0-35
m40-6.0

Figure 7: Candidates’ Performance on Question 7.
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The analysis shows that 14,668 candidates (86.6%) scored from 0.0 to 1.5
marks, which is a weak performance, and among them, 9.9 percent of the
candidates scored a 0.0 mark. These candidates provided irrelevant answers to
the question. One of the candidates, for example, wrote " cdui cualf * in jtem
(7). The candidate was wrong because he or she used the predicate instead of the
past tense verb. Moreover, the sentence is grammatically wrong due to fatha on
the last letter instead of dammah. Some of the appropriate verbs which could
have been used for this noun are <& and 4iwto formulate the sentences <
Gull and Euall Lo | respectively. Another candidate in item () wrote o4 Aleds
5t instead of writing the past verb form at the beginning of the word sk« ,
he or she wrote the subject. The noun &t/ could be used with the past verb
forms such as <</ in the sentence G jbua) <y yidi or cwdbal in the sentence
b bud casbwa) . Another candidate wrote A&/ /3 in item (z). The candidate
responded to the item by using a demonstrative pronoun (6_t4¥/ a)) contrary to
the requirement of the question. Some of the verbs which could have been used
in this item are «dand (#4¥in the sentences sleff <y dand sLaff (§ésirespectively.
Another candidate from the group which scored zero marks wrote < in item
(3). The candidate did not add the past tense before the noun; rather, he/she
rewrote the word as it is.

Moreover, another candidate in this category wrote in item (&) st/ without
constructing a sentence by using a verb which correlates with the noun in this
item. In item () another candidate wrote </ instead of creating a sentence by
using it as the question required him or her to do. The candidates' responses in
this question show that the candidates had little understanding of past tense
verbs in sentences. Some of the candidates even skipped the question as others
copied words from other questions and writing them as answers to the question.
Extract 7.1 is a sample of poor responses.
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Extract 7.1: A sample of poor responses in question 7

Extract 7.1 shows a sample of response from the candidate who was unable to
give the correct answer. The candidate failed to determine the requirement of the
question. The candidate also escaped one item.

Further analysis of the candidates’ responses shows that 2,265 candidates
(13.4%) had an average performance on the question. This group managed to
formulate meaningful sentences using appropriate verb forms before the nouns,
but only in some items. Some of sentences they constructed were affected by
grammatical errors. This average performance implies that the candidates had a
partial knowledge of verbs ( J=4¥/) specifically past verb forms.

Contrarily, the candidates who scored high marks on this question managed to
construct meaningful sentences using the given nouns in each item. The
candidates mostly wrote appropriate verbs before the nouns given and correctly
made necessary changes to ensure concordance in their constructions. The
candidates who scored full marks on the question exhibited a high understanding
of the Arabic verbs. One of the candidates for instance, wrote </ <udsin item
(7). The candidates therefore, realised the meaning of the noun given in this item,
which is the house. Hence, he correctly chose the verb &~ and used it in
constructing the sentence because the verb can be used to mean building. The
candidate attached the verb with the first person singular to make the sentence
(Eusdl <) (1 built the house). In Item (<), the candidate wrote 4 bwdl <y i/ The
candidate added the verb (bought) in past tense with the first person singular to
make the sentence &kl <5/ (1 bought the car).

Moreover, he or she demonstrated sufficient knowledge of Arabic vocabulary.
In item (g), the candidate wrote <&/ <[, (I saw the moon), which has a
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correlation with the noun given in this item. This suggests that he or she knew
the meaning of the word _«&/ which is (the moon). In (9, the candidate wrote
i maibecause he/she comprehended the meaning of the noun in this item and
how to use the past tense form correctly. In (2), the candidate wrote sl (3417,
The candidate realized that; the appropriate verb which correlate with the noun
is this item was (#4 as he or she was aware of Arabic vocabulary specifically
verbs. Lastly, in item (), the candidate correctly used the verb i/ before the
noun L/ to create a sentence £/ i/ implying that he/she was aware of the
meaning of the noun used in this item. This shows that these students had
mastered well the Arabic vocabulary, specifically past tense verbs. Extract 7.1
shows a sample of a good response from one of the candidates in this question.
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Extract 7.2: A sample of a good response to question 7.

The Extract 7.2 shows a sample of a response from one of the candidates who
was able to use past tense verbs before the nouns given in each item and make
necessary changes where needed.

2.2.6 Question 8: Analysing the Underlined Words

This question had five items which about inflection (</<¥). The candidates
were required to analyse the underlined words given. As in Arabic language the
word may change its ending due to the role of the word in the sentence. The
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process of this change is called inflection (</«¥). This question tested the
candidates' ability to analyse words in a sentence by using inflection (</L<¥).

The question was:
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The question was attempted by 16,919 candidates (99.9%), out of which 14,232
candidates (84.1%) scored from 0 to 1.5 marks, which is a weak performance,
1,483 candidates (8.8%) scored from 2 to 3.5 marks, which is an average
performance; and 1,204 candidates (7.1%) scored from 4 to 6 marks, which is a
good performance. Therefore, the candidates’ general performance on the
question was weak, considering that 2,687 candidates (15.9%) scored from 2 to
6 marks. The overall candidates’ performance on the question is summarised in

Figure 8.
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Figure 8: Candidates’ Performance on Question 8.

As shown above, the candidates who performed poorly in this question were
14,232; among them, 12,800 candidates (75.7%) scored O marks. These
candidates who scored low marks or zero marks failed to analyse the underlined
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words as required. Most of them provided irrelevant answers. One of the
candidates, for example, analysed item (\)w-v-u-«-f/cua as the predicate in the
accusative case. However, the candidate was wrong because the correct answer
would be allw sSispas 4% daall se Ll glgly £ 94 pa Jfold :G5giRall (Al-
mujtahiduuna: subject in the nominative case by the letter wau on behalf of
dammabh, since it is (e sSie zaa) jam-u mudhakkari saalim). This suggests that
the candidate lacked an understandlng of alw sSiegaa (jam-u mudhakkari
saalim). In item (<) u-t-*J“-f/ 4% he or she analysed the word Ceadldll as the doer
of the subject in the nominative case instead of <ade g cipais 4 fords u-!—*JW/
Al jSia pan 7Y midll e il oLl 4uai (Al-fallaahiina: object in the accusative
case and its sign of nasbu is the letter yaau on behalf of fatha, since it is ( g=a
allw 4$i4) jam-u mudhakkari saalim). Therefore, the candidate failed to
differentiate between the doer and the maf-uulun bih in the sentence.
Consequently, he or she analysed the underlined word in this sentence as the
doer, which is incorrect. In item (z) u-uﬂf-«u-f/g-fcfai«u the candidate analysed the
underlined word as the object in the accusative case, which is wrong. The
correct answer was supposed t0 be (& Lol slall o sa Ladle g los g raa 105 liudl]
Al Sie gaa 47¥ 5 sl (Al-musaafiriina: Genitive noun by the preposition (=)
and its sign of jarr is the letter yaau on behalf of kisra, since it is (alw Sie gaa)
jam-u mudhakkari saalim). The candidates were not aware that the noun
preceded by the preposition and should be majruurun. Furthermore, other
students who performed poorly in this question wrote meaningless sentences,
while others skipped the question. This shows that the students lacked
techniques and knowledge of analysing words in the Arabic language. Extract
8.1 showsis a sample of a poor response from one of the candidates in the
question.
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Extract 8.1: A sample of a poor response to question 8.

The Extract 8.1 shows a sample of a response from one of the candidates who
was unable to analyse the underlined words in the given sentences. For example
the candidate analysed the word in item one as the verb instead of the doer.

The analysis of the candidates’ responses shows that 8.8 percent of the
candidates had an average performance on the question. Most of them failed to
provide correct answers to all items, or their responses were full of grammatical
errors. Others in this category provided incomplete answers to some items or to
all items. Furthermore, some candidates in this category left some parts of the
questions blank. This performance can be attributed to candidates’ partial
knowledge of analysing sentences.

As shown in the analysis, the students with a good performance on the question
had scores ranging from 4 to 6 marks. The students who scored full marks
analysed all underlined words correctly. One of such students in item (\) o
G WrOte alw sSie gas 47 daiall 0 dulsi gl alls £ 38 pa SO U6 25 5igTiad] ™ (Al-
mujtahiduuna: subject in the nominative case by the letter wau on behalf of
dammah since it is (afw sSie 2a3) jam-u mudhakkari saalim) ”. The candidate
was aware that the (allw sSis £a3) jam-u mudhakkari saalim) is analysed as in the
nominative case (mar-fuu-u) by the letter wau which is clearly before the last
letter nuun. In item (<), he or she wrote: 4w Lade 5 ot puaio 4y fpada :Giadd)
Al _Siae pan 7Y idll e 4l e L (Al-fallaahiina: object in accusative case and
its sign of nasbu is the letter yaau on behalf of fatha since it is (allw sSie 2a3)
jam-u mudhakkari saalim). This suggests that she/he understood the indicator of
the (allw sSie 2aa) jam-u mudhakkari saalim) as when it is in accussative case is
the letter yaau which represents nasbu. In item () Copiiadd] u-fcpf-w he or she
Wrote "allu sSis gan 4i¥ oSl 36 Ali plull 0 s dadle 5 At g 13a 2 Cof iliaid] 7 (Al-
musaafiriina: Genitive noun by the by the preposition (<) and its sign of jarr is
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2.3

the letter yaau on behalf of kisra since it is (allw _sSie £ea) jam-u mudhakkari
saalim). The candidate realised that the (alw _sSie £ea) jam-u mudhakkari saalim)
is in the genitive case (.4 when preceded by a preposition. They also
determined that the sign of jarr is represented by the letter yaau in this case.

Conclusively, the candidates who scored high marks on this question had
sufficient knowledge of the Arabic language and were proficient in analysing
the Arabic sentences. Extract 8.2 is a sample of responses from the candidates
who correctly analysed the given underlined words.
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Extract 8.2: A sample of a good response to question 8.

The Extract 3.2 above shows a sample of a response from a candidate who was
able to analyse the words correctly in the given sentences.

SECTION C: Composition

This section had four questions: one on the article writing, the second on letter
writing, two questions on response to readings based on the stories of “The Lazy
Rat” and “The gazelle and the old lion”. The candidates were required to attempt
only three questions. Each question carried fifteen (15) marks, making a total of
45 marks.
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2.3.1 Question 9: Article writing

The question was about Corona virus, The Candidates were required to write an
article about the Coronavirus, including its symptoms, how it spreads and how
someone can protect him or herself and others from it. The question tested the
candidates’ ability to write an article and express themselves in the Arabic
language. The question was:-
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The question was attempted by 3,456 candidates (20.4%). The statistical
analysis of the candidates who attempted the question shows that 3,086
candidates (89.3%) scored from 0 to 4 marks, which is a weak performance and
355 candidates (10.3%) scored from 4.5 to 9.5 marks, which is an average
performance. Furthermore, 15 candidates (0.4%) scored from 10 to 14 out of 15
marks allocated to the question, which is a good performance. This question's
general performance was poor, considering that many candidates scored below
average. Figure 9 summarises the performance on the question.

0.4%

Scores

m0.0-4.0
45-95

m10.0-15.0

Figure 9: Candidates’ Performance on Question 9.
44



The candidates who performed poorly in this question exhibited weakness in the
Arabic language. However, some of the candidates who did not score zero marks
were able to introduce Covid 19 but provided weak points about it.
Simultaneously, the candidates who scored zero marks were not able to explain
something about the Covid 19. Consequently, some of them wrote meaningless
sentences, while others did not attempt the question. On the other hand, some of
the candidates copied words or passages from other questions and put them as
their answers. These incorrect answers show that these candidates lacked enough
vocabulary and skills to express themselves in the Arabic language about the
Covid 19. Extract 9.1 is a sample of a candidate who performed poorly in this
question.
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Extract 9.1: A sample of a poor response to question 9.

Extract 9.1 above shows a sample of a response from a script of the candidate
who provided incorrect responses.

However, a few candidates had an average performance on this question. These
candidates were able to write an article about Covid 19. However, most of the
candidates failed to organise their points in good order and did not provide
sufficient explanations. They also mixed incorrect and correct responses.
Moreover, their responses had a lot of grammatical mistakes and spelling errors.

There were a few candidates who performed well in this question. These
candidates were able to explain Covid 19, including its symptoms, how it
spreads and how someone can protect themselves and others from it as the
question required. Although they arranged their ideas in a good flow, their
responses had minor spelling mistakes and grammatical errors. Additionally,
some of them escaped some parts of the question although they scored high
marks since they showed high understanding in explaining cross-cutting issues.
This implies that these candidates had sufficient vocabulary in the Arabic
Language. Extract 9.2 shows a sample of a good response.
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Extract 9.2: A sample of a good response to question 9.
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Extract 9.2 is a sample of responses from one of the candidates who performed
well on this question, although he or she had a few mistakes.

2.3.2 Question 10: Letter writing

The question was about letter writing. The candidates were required to write an
official letter to the director of the University of Dodoma asking him or her for a
diploma scholarship in teaching the Arabic language. The question tested the
candidates’ ability to write an official letter and express their thoughts fluently,
logically and appropriately in the Arabic Language. The question was,
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The question was attempted by 9,416 candidates (55.6%). The performance on
this question was poor as 1,485 candidates (15.8%) scored from 4.5 to 13.5
marks. Further analysis shows that; 7,931 candidates (84.2%) scored from 0 to 4
marks, which is a poor performance, 1,475 candidates (15.7%) scored from 4.5
to 9.5 marks, which is an average performance, and only 10 candidates (0.1)

scored from 10 to 13 marks. Performance on question 10 is summarised in

Figure 10.
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Figure 10: Candidates’ Performance on Question 10.

The analysis shows that 7,931 (84.2%) scored from 0 to 4 marks out of 15 marks

allocated to the question. Some of the candidates who scored marks on this

category correctly wrote the address of the letter and its title, while others could

only write the address. With regard to the candidates who scored zero marks on
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question, they completely failed to write an official letter. Some of them, for
example, repeated the question, and others just copied some words from other
questions and used them as their answer. A few of them provided unclear
explanations because they had inadequate knowledge of letter writing and poor
mastery of the Arabic language. Extract 10.1 is a sample of a poor response.
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Extract 10.1: A sample of a poor response to question 10.

The Extract 10.1 shows a sample of a response from one of the candidate who
was not able to answer the question besides he or she copied the question and
some sentences from other items.

The candidates who got average performance managed to write the address, the
title of the letter and the conclusion — although with grammatical errors. This
indicates that the candidates had not only insufficient vocabularies but also
partial knowledge of letter writing skills.
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A few candidates managed to write an official letter to the director of the
University of Dodoma. They adhered to the principles of formal letter writing in
the Arabic Language. The candidates' good performance on letter writing shows
that they had adequate knowledge of letter writing and a good command of the
Arabic language. Although, their explanations in the main body had minor
grammatical errors they met the requirement of the question. Extract 10.2 shows

a sample of a good response.
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Extract 10.2: A sample of a good response to question 10.

Extract 10.2 is a sample of good responses from a script of a candidate who
wrote a formal letter to the director of the University of Dodoma asking him for
a diploma scholarship in teaching the Arabic Language. However, she or he

made some grammatical and spelling

2.3.3 Question 11: ‘The Lazy Rat’

mistakes and some minor mistakes.

The question was about the theme of regret. The candidates were required to
explain how the theme of regret has been raised using the story of ‘The Lazy
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Rat’. This question set out to test the candidates' ability to build strong
arguments and express themselves in the Arabic language. The question was,
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The question was attempted by 6,257 candidates (37.0%). The statistical
analysis shows that 5,800 candidates (92.7%) scored from 0 to 4 marks, which is
a poor performance, 442 candidates (7.1%) scored from 4.5 to 9.5 marks, which
is an average performance, and 15 candidates (0.2%) scored from 10 to 13.5
marks indicating a good performance. This question's general performance was
poor since 457 candidates (7.3) scored from 4.5 to 13 marks. The performance
on question 11 is summarised in Figure 11.

Scores

m0.0-4.0
45-95
m10.0-15.0

0.2%

Figure 11: Candidates’ Performance on Question 11.

The analysis shows that 5,800 candidates (92.7%) scored from O to 4 marks;
among them, 3,235 candidates (51.7%) scored O marks. These candidates largely
failed to use the story of ‘The lazy rat’ to respond to the question. The majority
of such candidates provided unclear explanations or copied some words from the
question paper and presented them as responses to this question. Others narrated
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the story of ‘The lazy rat’ without elaborating the statement given. The poor
performance shows that the candidates lacked adequate knowledge of the story
of “the lazy rat” and did not have enough vocabulary in the Arabic Language.
Extract 11.1 shows a sample of poor response.
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Extract 11.1: A sample of a poor response to question 11.

Extract 11.1 is a sample of responses from the candidates who provided unclear
elaboration of the theme of regret in relation to the story of “The lazy rat”

The candidates who scored from 4.5 to 9.5 marks gave the correct interpretation
of the question and demonstrated knowledge of the subject matter. Further, they
demonstrated the mastery of essay writing skills. However, grammatical errors
affected the level of their achievement. A few provided a mixture of correct and
incorrect responses, while others correctly explained the theme of regret but
failed to relate their explanations with the story of “The lazy rat”. Some repeated
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points severally, as some failed to observe principles of writing an essay such as
good introduction and conclusion.

A few candidates who performed well in this question provided an appropriate
elaboration of the theme of regret and perfectly related it with the story of ‘The
lazy rat’. Such candidates also organised their points according to essay writing
principles although, their responses had some spelling and grammatical errors.
The good performance on this question shows that the candidates had sufficient
knowledge of the story of ‘The lazy rat’ and had a good mastery of the Arabic
language. Extract 11.2 shows a sample of a good response.
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Extract 11.2: A sample of a good response to question 11.

The Extract shows a sample of a response from a script of the candidate who
showed the theme of regret in relation to the story of ‘The lazy rat.’

2.3.4 Question 12: The Gazelle and The Old Lion

In this question, the candidates were required to elaborate the statement,
“authors use various books to educate the community” by using the story of
‘The gazelle and the old lion’. The question intended to test the candidates’
ability to build convincing arguments and expressing themselves in the Arabic
Language. The question was,
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The question was attempted by 2,658 candidates (15.7%). The performance on
this question was poor, as 341 candidates (12.8%) scored from 4.5 to 13.5
marks. Further analysis shows that 2,317 candidates (87.2%) scored from 0 to 4,
which is a poor performance, 313 candidates (11.8%) scored from 4.5 to 9.5
marks, which is an average performance and 28 candidates (1.0%) scored from
10 to 13.5 marks, which is a good performance. The performance on this
question is summarised in Figure 12.
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Scores
m0.0-4.0
45-95
m10.0-15.0

11.8%

1.0%

Figure 12: candidates’ Performance on Question 12.

The analysis of the candidates’ responses shows that the candidates who
performed poorly in this question failed to answer the question properly due to
the poor command of the Arabic Language. The candidates who scored zero
marks on this question provided unclear explanations. Some of them did not
understand the question's requirement. Others copied words from other
questions and used them as responses. Some of the candidates just narrated the
story as it is without interpreting the given statement.

Furthermore, their responses had a lot of spelling mistakes and grammatical
errors. The poor performance implies that the candidates did not have adequate
knowledge of the story of ‘The Gazelle and The Old Lion’. Extract 12.1 shows a
sample of a poor response.
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Extract 12.1: A sample of a poor response to question 12.

The Extract 12.1 shows a sample of a poor response from one of the candidates
who did not understand the requirement of the question.
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The candidates who scored from 4.5 to 9.5 marks as an average performance
were able to identify the question's requirement. They had sufficient knowledge
of the subject matter. Some of them provided a relevant introduction but failed
to provide good conclusions. Additionally, some of them mixed correct and
incorrect responses. They also did not score high marks because of the failure to
provide exhaustive elaborations.

A few candidates performed well in this question. These candidates were able
to interpret the statement that says, “the authors use a variety of books to
educate the community” as required. Furthermore, these candidates organised
their points appropriately, starting with the introduction, main body and
conclusion. These candidates’ good performance shows that they had adequate
knowledge of the story of ‘The gazelle and the old lion’. Moreover, they
showed a mastery of the Arabic language. However, their responses had some
minor grammatical errors and spelling mistakes Extract 12.2 shows a sample of
a good response.
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Extract 12.2: A sample of a good response to question 12.

The Extract 12.2 shows a sample of a response from one of the candidates who
was able to interpret and discuss the statement provided although his or her
responses affected by some mistakes.
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3.0

4.0

ANALYSIS OF CANDIDATES’ PERFORMANCE ON EACH TOPIC

The analysis of the candidates’ performance on each topic in 2021 indicates that,
question number one (multiple choice) had an average performance, since 7,376
candidates (43.6) scored from 3 to 10 marks. This question comes from the
following topics: Verb sentence, Inflection and Uninflected, Defective verb,
Nouns, Verbal clause, Adjective and Verbs. The candidates also had an average
performance on question number four from the topic of Meaningful sentences,
considering that 5,307 candidates (31.3%) scored from 2 to 6 marks.

All other questions from different topics had a poor performance. The questions
were: number five from the topic of simile, in which (22.2%) of the candidates
scored from 2 to 6 marks; question number two, which was the matching items
from the topic of genitive construction, in which 20.5 percent of the candidates
scored from 2 to 6 marks; question number three from the topic of expression, in
which 18.3 percent of the candidates scored from 3 to 10 marks. Other questions
were number eight from the topic of inflection, in which (15.9%) of the
candidates scored from 2 to 6 marks and question number seven from the topic
of verbs, in which 13.4 percent of the candidates scored from 2 to 6 marks

Furthermore, in composition, 13.3 percent of the candidates scored from 4.5 to
14 marks. Moreover, the candidates had a poor performance on pronouns since
12.5 percent of the candidates scored from 2 to 6 marks. Lastly, in response to
readings, 10.1 percent of the candidates scored from 4.5 to 15 marks.

The candidates' performance on the topics is summarised in Appendix A,
whereby yellow colour indicates average performance on the topics, and red
colour, a weak performance on the topics.

CONCLUSION

The general performance of candidates in Arabic language in the CSEE 2021
was poor although the performance was average on question number one and
four. The poor performance implies that the candidates lacked enough
vocabulary and skills to express themselves in the Arabic language. The
candidates also had inadequate knowledge of Arabic grammar and composition.
Conclusively, the candidates did not master well Arabic language subject.
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5.0

RECOMMENDATIONS

To improve the performance of the candidates in future examinations, the
following recommendations are given:

(a) Teachers should guide candidates to express their daily routine and past
events using simple sentences to enable them to express themselves in the
Arabic language.

(b) Students should be encouraged to read more grammar books and other
related materials like newspapers and journals to widen their knowledge of
the subject.

(c) Teachers should guide candidates to discuss themes and write summaries of
literary works studied.
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Appendix A
Summary of Candidates’ Performance on Each Topic

2021
Total The P .
Number e Percentage o
f Candidates in the Topics | Remarks
SIN Topic ©
Questions
1. | Multiple
choice A
questions 1 43.6 el
from various
topics
2.
Meaningful 1 313 Average
sentence
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